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BEAINZE : Mathematical content

—J=9.916 7 — )\ (a)
—7 —(a) =100 nf
Z[H The first question
#HZ BRIk =1791.6
Answer is
X=(45x1.8) X (12X 1.8)
=1749.6=1791.6
foT, HrL BT 5,

Therefore this match with the answer.

—it=1 7—n@ —M=18 7—xr(a)
—#=0.03 7 — 1 (a)

C ORI RIS HI(81.0), B =N

LODHETH 5.

This figure is a figure of 81.0 X 21.6.

AMH The second question

HA ERMikELH =1408 md

KRBz X &F 5,

To find the value of X

Answer is

X=(8x1.8+15x%x1.8)
x1/2x38x1, 8

=1416=1408
XoT. HxE—ET 5,

Therefore this match with the answer.

C ORI PNR(144), JEE R
(27). REBH/\IH(68.4), TR Y 7>

HIETH 5.

This figure is a trapezoid made of

144,27, 684 .

Representative: Maeda

FH24: R
YLF AL : Edo culture

T HAE I 1000 ELL EFTOPRIHD S % o - HAITHE T, Hodib
RITHHZMY EEEDOHRICLTWwWi-t wbhTwizzo, XK
DIHER B D HBWETH S, BHFOHAANICE o TR BRD
kDI ICER R Lo T, HEERIE

YeiER : English translation

Edo culture : The fifteenth night is Japanese event that began more
than 1000 years ago in Heian period. People of the Heian period
knew the time and date by the phases of the moon, It was a standard

of farm work. Representative: Tamori

% L0 - SROME - A
X Lo RIGBLBHOMNMEEZRD S,

1M 14 BHL6YE OFENEA - BAYL - HiHIC - HTHA - FiELk

©Muromachi Hayato,Miyamoto Kai,Maeda hajime, Tamori Yuki, Tomizawa Misa

HREERR ¢ Original text

45 it 12 OHAIZD CFAA—A) ZB]S

Ex BRI\

ZMH : BUGGER
B4 5 OHAZDOPFCPFT A — P V)& S,
Ex RNk

&S
EhHIEORWT PEHB e AR Z 20 5 L HEMWEE k5
Chz ko = ERRHONENM BRIz ST & v,
OB ZTHTH IV 00— ERK LW
BIEDOH Ag AR =5\BE ko ST 5 o\ B D FEZ 1] 5
Hx EXM

ik s RATBORWHOREY, MiGhE ok, iz rrse
ABEOOMA L 75, CNEHEDO=HETHS, 2 208U 3 T4:T
Hb, 2FY, ot o—EEBREVS,

KRHE - BUREERR
BIEOH ANEP R ZH/\EL JE W REE TR e\l o P2 5 .
Bz ERMIRGLH
fif & 75
Rl RaioR I 2R LT TH S
Thick CGRAN) 2200 Tz ZESTROBREZEY ., FFicksT

figid: : (BIBOLRR)ECTORT LR TORIZRLT, XTHS, &5
CRZH/ARZ DT T, Sh2 A5 TR TEDOEIEIC RS,
fHY R EwA

HigEER: English translation

The first question : English translation

I ask you how large rice field whose length is forty five and width is twelve
Answer: One™ and eight®".

The product of forty fiveX*" times twelve**"is five hundred and four steps.
And you divide this by three hundred steps.

But steps of that are three thousand.

Therefore one tenth of that is one™.

The second question : English translation

You must calculate the area of trapezoid.

But that is a trapezoid whose length is fifteen X", width is eight® and
height is Thirty eightXen,

How to answer:

First of all, you add fifteen®*" to eight®*" and times that by thirty®e",
Finally we count this™ with three hundred™ and this reaches answer’s
proportion.

Representative: Maeda Tamori

GROPEIGRT 2 0IWNKL 72O Ttz do o052 ke, ANEDHMEL > LHEY S, ¥7MTFO IV ELIRTIAB LT 5,
BALSTAIR S WS ETHOHEARFBEZ LT, L THOHATEDLDICEV L,
FRBGERIN TR DD ZT DR ETHRETLAEBHDORA v A—THIMAPZ2EY LFE LIFEMO LW e Z LM wE L, ZofREC

N HICENLTOELZNTT,

Summary &Future tasks &opinion

Summary: Calculate the value of area of rectangle and trapezoid

Future tasks: We must acquire a lot of ward power because it is difficult for us to do English translation. And further deepen our understanding.

Opinion: We try to make it easy for people to communicate. Impressions: We had a very valuable experience of summing up this time and it was very
helpful for us. It was very difficult to do things that were not yet translated into modern times. But we thought it was wonderful to build something
together with members of the group. We would like to make use of this experience in the future.

il ¢ heeps://ja.wikipedia.org/wiki/%E6%B1%9F%E6%88%B8

SISkt Bz


https://ja.wikipedia.org/wiki/%E6%B1%9F%E6%88%B8

